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1) 8 + 12 + 18 + 27 +…+ 275.375 = 
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a, n, d =

Skills:

* Find a rule for a sum Sn       (given a, r, or sequence)
     eg. 8 + 12 + 18 + …+ 275.375
* Find a sum (given a, r, n) eg. 125 + 225 + 405 + 729….
S9= ?



* Find sum to infinity.    24 + 12 + 6 + 3 +……..
A tree seedling is 1.4m tall.  After planting it grows 34 cm in the first year, and grows 
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 of the previous growth each year thereafter  

How tall does the tree grow?










































































































Theta Ex 27.03


Applications:


Ex 27.04





Geometric Series





� EMBED Equation.3  ���





� EMBED Equation.3  ���











Sum to infinity
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Theta 


Ex 27.05


Applications


Ex 27.06
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